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n 4TS *Jf R T @R (3 +§)"~ﬂﬂﬁgﬁfw x7\@ x8 @3 72! 56 N T, n @3 I fAfm
sttt (3 +2) an Rgfow (r + 1) ©F o, tryy = "Cr.3" (%) = mc3nr2naT

- x7 @F ARl = C,.3"7277 3L x® IR = "Ce. 3770270 ;
wﬁt@ nC.37"7,277 = nCy3n-82-8

- 6 _1 P —
= ‘?!{n-.r]l x3x2 = 8! (n—8)! = n-7 H: n—7 48=n S5

(3,4) BT @ (0, 0) N4RFB *rgras feess Al Rfa v
TYI: RIYEHT W AT y = Tx = 4x — 3y = 0

T <4, T T (mﬂ)ﬁ"{tﬁﬁﬁﬂmwiﬂ=ﬁ (-3,-9)| (0, 0) 3,4

:u——EtﬂH\B; =0=>p3=-

T B Y el STEERIE TE 3x 4 4y + k = 0, @A, k TR 971 3 (-3, —4) g ==,
—9—-16+k=0=k=25; farea qiiwads 3x + 4y + 25 = 0 (Ans.)

_q1-x 1 _
ANMYF F9 tan~ ! — ==-tan"' x
1+X 2
21-'1
—11-x 1 - -1 [1—X - - T+X -
ANYE: tan™? “tan~1x = 2tan 1(—)=tan ly=tan™! —1*_ = tan™'x
14x 2 14X 1- L:’.E)
14X

2
- 2( J"'“J=J':=::ﬁ2---2:-n:2=4}~{2=:Mf:3:n:2 =2=’>x—+?
4%

W y = cos(2 sin~? x) T, ©& (MANS (7, (1—12)——x—+4}r-—{}
TAN: y = cos(2 sin~! x); X-aF ACATH TSAPa P,

d}F_ . R | 2 . S e d ﬂ_j’ Z s - 2 e, |
= —sin(2 sin™" x) = (1-x )(dx) 4sin“(2sin™*x) [ﬂi‘fﬁtﬁ]

= (1 —x%) (ﬂ)2 = 4 {1 — cos?(2sin"*x)} = (1 — x?) (E—i- e 4(1—-y?)

21— x)% L4 (9 (—20) = 4(-2) &

dx " dx?
= (1 - xz)—-—x—-4y[ﬁ—ﬂwz“"W“rﬂm]:(l—xﬂ)——x—Jr:Ly 0

arE e as [ — (1 = dx
(1+x-1)e* . i_ - x 4 4 _ e AR
MRIARE -r(1+ jI f (14x)% o -r[1+:-: (1+u)2] -r (1+ ) dx(1+x)] dx = 1+x G ﬂﬁiﬁi C -

AP &9 - [[e*f(x) + e*f (x)]dx = e*f(x) + c

1 BB (1000 ¥+ G7.53.) ST IRel Faro! g 12 AITS W< G Aol Jeiw[ Piferem e fiferemba Toe!
@ E et T A4ier o9 crave [ 51 Mo ot tof a1 -1e’?
Ty 43, Bifercrsa Swel h @R R TP r &P, SEE rth = 1= h = =

ffereicm crawe, A = 2nr? + 2arh = 2ar(r + h) =2nr(r+—1—) = 2mr2 +.2_

d!
_-.‘;:_m—i.- a;—“““"_ﬂ' Aﬂaﬁgmam——-:o:mnr—zﬂh 0 .h=2r

Larx2r=1=2mr* =1 EE = 0.542dm @9 h = 2r = 10.84cm = 5.42cm
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ST RSER SATHY ( e
BUET srmee Ty @ § T

07. Sfm o USSR wrehmE o Gl A e 40 @ A a3ft 1% T 4T 2 YT SR G &[T 28
4 4FB T AR 1 oot Bimem | AmiBa iR T WIS ST @R TS ©f S0 (el HREro 2(4?
FAYA: CD = 40m. B fFvgm wAtaies F 03 SN0 S T @ R Eiog #ivF AT SOl O 7%& | B {999
ACATH F 019 SNE NN = F. BE.

= F.BD sin® = F.CD sin0 cos® = "-? sin20

TN I T4 T3 7 sin20 = 1 W1 . 6 = 45°

@3, BC = CD sin® = 40sin45° = “—J'.:. = 20v2m

HoaR, BN RTF 20V2Zm e wfE tyre 21|

*08. 300 (WO Sa /R wafo 1St &fs THm 60 M AT TPT It FalR| @ AT TG 50 e g
Ao AN 29| &g 9 I A <41
FAAYE: SR ©4, m = 300 ¢IHF = 300x1000kg

ST u = =2 ms™T = 26.8224ms ™

g, s = 50x3x0.3048m = 45.72m; €N, v=20
Yfq, 99 = ams™2; .. 0 = (26.8224)% — 2ax45.72= a = 7.87ms™?
-, &F& T = ma = 300x1000x7.87N = 2.36x10°N
09. @0 IACH 6 o =711 74, 4 o A1 <=7 @R 5 15 e 91 SR CRoAA “iaore Fsiesitd foqfb 95 AT (AP @F T
T, AT, I ST RV, ST, F70E 6T ST NI TSRAT (G 9 34 it 307 M0 7w ARt a1 =

5

6 s 4 4 6
YN Cﬂﬁﬁ'ﬂ"‘ . WW" Ci¥ C1X €3 C1X C1x €1 _ 2x4x5x6 _ 8
| 1511 .. ' T 150, w14, X213, + 15c xi%c,x1%¢;  15x14x13 91

TEY (Written)

10. & g3 fMq 30ms™? sifere SgFelta 2 efe | I Y 10ms ™~ 5ifers Ted mwm O B IR JIE
QITE T (TS (SR Rre! (T TS (T 490 T @9 79|

AAYI: 4, RIST Iew AN 0 (I Yo YA | - 10ms?! x
AGPQ ¢ tan El--ﬁ:-;-‘ North O ESl;!.IIh
0= tan‘ig-—- 18.43° 30ms’! E

. BT AN 18.43° A1 ) B :

11.  20puC %2 93 viet @qfes cra tofd a1 &b (UtF 10cm €92 5cm WEWWWI qFo [ TS
w1o [ a3l el e itss AR @ F9)

‘-‘IIITH'H w9l &, W = q(v, — vy) QH, g = 20x1076C,Q = 1.6x1071°
— q4 - (.:——;1- r; = 10cm = 0.1m, r; = 5cm = 0.05m
Ntp 2 1
9 -19 (1 1 -13
— 20%x10~5x9x10%%1.6x10 (m 1) = 2.88x107%3].

12.  30kg STF9 OF (17 48ms~! @Uot Burz | el fArwifas o 12 Rod e 131{gwimrr%ﬁzamm qqL AR
R o 1 IR W [ FS?
FAYI: St S, myv, + myv, = my 9QTH, m,; = 18kg, m, = (30 — 18)kg = 12kg
= (18x0) + (12v,) = 30x48 = v, = 120ms™? v; = 0ms™, v = 48ms™!, m = 30kg.

13. GG BE PEEGHR AT o T9ITed 50m #ifSs 21 “IEege (AEE o[ F &7 2.0m/s? T Tesa e
IS 2 | BAITS NER TS O S 3.0m/s BA! FowHt IS e ?

;':;f.;';-'é; ‘ R 178 ﬁ Afqera SO Wagy JAU6Hl.,.




14.

15.

16.

17.

18.

19.

20.

21.

4 £

. Ly, e e

WY v, = vy — at, vZ = (0)2 + 2x9.81x50 Ve = 0,s; = 50m
= 3 = 31.32 — 2xt, =v, =31.32ms™? a=2m/s,, v, =3m/s
=t, = 14.16 v, = 0 + 9.81xt,=> t, = 3.192

t=1t;+t; =14.16 + 3.192 = 17.35 sec
0°C STeN@l W3R 1.0x10% N/m? BITel I TIZ-S[HIDT ST Ty 1.98 kg/m3. 61T 0°C @ 30°C ST &

ST S T G 7= @9 91

_ E‘ _ 3x10° . —1
AN C, = ’p = f Tos = 389.25ms
C2 _ 'IE. - ’E . — F’E _ -1

M 99 &-59 «{aFiq 58774 STHACNT ST IRLEE &0 92 A R W1 54614 S (AT WA 9 O
TS I8 TR TF?

_ _ Ny S877x92
W‘ﬂ'ﬁ! n]_?'\-]_ = nz?l.z =0 = g = vy = 99

8MeV & T§ @S0 (AGF 5.0 Tesla TABITF CFG TICHC 2T FCH | (BT THF FiF GIge 9o HAT T+
[m, = 1.6x107?7kg, charge = 1.6x10"2%]

AN Ey = %mvz = 8x10°x1.6x10719 = %xl.ﬁxlﬁ'”xvz = v =4x10"ms™?

F = qvB sinf = 1.6x10™19x4x107x5 sin90° = 3.2x10~ 1IN

ST “Iede 1210 O A @3 B 7 CATHIA ST 1: 2 @3 IR SIS 2: 1 | AW 992 91 [l S oIt Ol 2,
41 A 932 B O3 797 Jed St 16 137

2 i
T SR S, Y= i =D o =2 L 2= (2) 2 (3 =2 - g, = 1:8Ans.

w2y  wrif; | 128y 13y £ La\n 2 \2
27°C Sy 1kW @it IEelis @ofre 2 litre i sitr1 oo 10 fiftea wwv 326 o= Fat <=1 ™
BT O I D9 160 J /s o1 10 0 ol s o 237?
A @, Cliffe e, P = 1000 — 160 = 840W
Q<M, msA® = Pt I, A0 = — T, 0, —300 = —— === 60 .. 8, = 360k = 87°C

2x4200

S FS (Written)

298k SR 2RI Wfites R 39 K, = 1.7x10°moldm 3 =1 ©& \fites 0.1 moldm ™ ¥]("d pH

=T 3?2
TaiA: e &399 K, = 1.7x10"*moldm™° ¥=af@ = 0.1 moldm™ ; CH3COOH = [CH;CO0~][H*]

K, = [CH3CO0TIRY] s Rzmiifite CH,COO0™ '8 H* @R 7831 7371

[CH3COOH]
K, = IH—:E or, [H*]?2 = K,C; or,—log[H*]* = —logK, — logC; or, 2pH = pKa — logC; Or, pH = 2.88
G g @ @ R e ([RF9) LW I9 5% gy 589 nanometre, TP e e vo 1?
(78T SR, h = 6.624x10734]s]
STRIY: 2 75 A, = 589x10~°m; I, E = = = 3.373x107]
95 4.0L #1G 1.0 mol FIZWGITSH #1791 W3R 3.0 mol Y2CHITEA W ft Tae Fat =) i FZGISES 25%
ST FelReRe = @ N, + 3H, = 2NH; SR Ke 99 T Fd =,

0.5\
T N, + 3H =2NH; - Kc=(=_z(sj“ﬁ) a7s — 0468 mol™*dm®
& ) T

R 1

4

1-25 3(1-.25) 2%.25
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23.

24.

26.

27.

D {0 T

R ————————— LY NI L R ICEA L]

STRIH: 32 SIRAEH = 1 mol WA . n = 1;(P +5) (v—b) = RT, I a8 b &IF

(b) SRR o @G 71
STTY: ST <7197 3 T OIFfaTaTe @ Bieet ST <1e1Cea Q9 0 e 24 rers e r e 2

T TEIR RSN 7, £ = 3, U ST Grs s i 2
ARG FEHIR TSN AR, £ = 3, Z0E &G PR ARAT n = 4,5,6 .. o
TSABS GRS e, m = 0, + 1, + 2, + 3; ™ @Eom AN, s = +

ZnCl, ATt NaOH &3¢t st et 3 wes, Rfrarmz o
FYY: ZnCl, Tt NaOH T3¢ @1 4T, farrael RfeFaTe STt GiifSalT fErecat Brelg )

ZnCl, + 2NaOH — 2NaCl + Zn(OH),
ZH(UH)E + 2NaOH - NEEZHDE + ZHED

B

ZnCl, + 4NaOH - 2NaCl + Na,Zn0O; | +2H,0
(a) o (C,Hp) Aiifoa fonts sitafae si-as Hawe ford
SrYr: RSB (C,Hg) @ 71 fiais (i) H,C = CH — CH, — CHy - 1 — KA

(ii) H,C = C{E:; _, 2 —fRI3E @PF—1 (iii)CH;CH = CH — CH,

(b) TS AT G Ty Rrifire sTTel erer FT 1 SITre S TS @ 7 &)
H H3

e C = (5 - Fet —2 — REHA = cl,,, — Bt —2 — R

H/ H/
FreIEE 57 B T w0 TR [FOld FIE FE?
ST TENETERIETeT 40% SET TR FANIE 9ee | 537 Tl ¢ Bfew e A Tl I IR |

fAeoa RizFeta 54 1

Br+H50
(a) CH, = CH, >

H-0
Y H,C = CH, ———> BrCH, — CH,Br + Br — CH, — CH, — OH + HBr

CH3 0, H,0/Zn
(b) "\C = CHE 3+ 2 ;
EHJI
0
HaC HaC, / \ H,0
s C=CH, 2> 'C C H, 20/, H,C - CO — CH; + HCHO

(c) CH;CONH, + Br; + NaOH -
FHI: CH,CONH, + Br, + NaOH — CH3NH, + NaBr + Na,COj3 + H,0

()Mg.ether
(i)HCHO

(d) CH;CH,Br
Ether
F=1Y: (i) CH.CH,Br + Mg —— CH3CH, — Mg — Br

CH; H Elilg T
| | H,0
(ii)CHa—EHz—Mg—BHH—?:o-:CHz—rIJ—-OMgBr+ CHE—(IZ—DH+Mg(DH)Br

H H

s




28.

29.

30.

01.

02.

AR (Written)

Read the following passage and answer the question numbers 28-30 that follow:

Friendship is not a mere catch-word or watch-word but a feeling of good will and sympathy, love and affection
existing between two persons. It is a divine feeling springing from similarity of tastes, feelings and sentiments and
even of ideals and ideology, sometimes from gratitude and gratefulness and often from close association and
observation. It soothes a man in his distress, alleviates his sufferings, and sustains him in his misfortunes, helps him
braem the theories of life and alleviates his sufferings, sustains him in his misfortunes, makes his life a meaning, a
meaning to himself, a meaning to his friends and others. Time may and does come to one when one cannot express
one’s feelings to one’s brothers, sisters, parents, superiors and juniors. The feelings, emotions and sentiments become
too heavy and until and unless one who undergoes thesc cannot confide them to and share them with others, one
cannot reveal one’s all secrets and feelings. But one should bear in mind that summer or fair weather friends do harm
much and can lead one to a total ruin- moral, physical and social. So right choice is a must. A true friend is one who
stands by his friends in danger, smiles his grief, encourages him in good and noble deeds, prevents him from wrong
doing, admonishes him for his wrong choice and actions and gives counsels to brave the miseries of life. Such a
friend is what we need most and we need to seek.

Indicate whether the following statements are true or false. If false, give the correct information.
a) Friendship is something sentimental. (True)

b) A true friend refrains his counterpart from evils. (True)

¢) Summer friends should not be apprcciated (True)

d) Everyone should be flexible in choice of friends. (False)

Ans: Everyone should be prudent in choice of friends.

e) Friendship is tested through adversity. (True)

Fill in the gaps with correct form of verbs provided.

a) Friendship is a feeling of good will and love that exists (exist) between two persons.

b) When people closely get associated (associated).

c) It helps largely in sustaining (sustain) one in adverse situation.

d) When one’s heart is afflicted (afflict) with an anxicty he feels an urge to express it to others.

e) A man can be relieved of his anxiety by revealing (reveal) his secret to his friends.

Fill in the blanks with appropriate words to provide some information about friendship.

a) Friendship starts when two friends have feeling of good will, sympathy and love between themselves.
b) It is created by the similarity of tastes, feelings, ideals and ideology.

c) Sometimes it springs from gratitude and gratefulness.

d) Moreover, close association and observation gives completeness to it,

e) It is virtue that makes life meaningful to us.

A + RS + T + 3R (MCQ)

{5 T F: R = R, F(x) = 2x + 1 4! 7Sl & F1(2) @3 N ZS:

(a) 0 (b); (©)5 )1
T (b) :y = 2x+1; x=£§—1; F1(x) =?=&F‘1(2) =?=%

m 7 (@ TR & 21 + 3] — 6k @32 mi + 2j + 4k 33 96 718 71?

(a) —18 (b) 18 (c)9 (d) -9

TY: () ; SFINRL AT A, 2m+6—-24=0 " m=9

ECC e H




@3 (b) = OF OF

IAII: (d) ; P(A U B) = P(A) + P(B) — P(A N B) = P(A) + P(B) — {P(A). P(B)) = -:; ——g==
04. tan20tan® = 1 G ALY TNYT @INH?
(a) 27+ (b) 2nn &2 ORUER: (d) e + =

1—-tan¢0

SR ATYR: 0 = ne + 2 =

2
Y (c) ; tan26tan® = 1 =220 _ 1 o tan26 =1 — tanzﬁ.ﬁtan9=j:%=tan(i%).

05. @6 @GN tm3t+§§fv‘wwl 5 TG 77 @Foa @0 T T2

(a) 78ft/sec (b) E!‘t,fsveu: (c) 75 ft/sec (d) 1—? ft/sec
Wi(ﬂ);5=3t+§;\f~—— 3+==3+4+2;(Vis00 =3+ =78
06. adF N IEFEV (a?,2), (a.1) ¥l 0,0) ﬁ‘@‘ﬂﬂﬂtﬂ‘ﬂ"{ﬁ?
(2) 0,—1 (b) 2,2 (c) 0,—2 (d) 0,2
a? 2 1 5
TANE: ()5 |2 1 1-0::1| ‘| =0=a?-2a=0.2a@-2)=0 .a=0,2
0 0 1

Shortcut: I GFH TR W OE, A=a’x1—2xa=0 ..a=0,2
07. SpNe Mt QI STERTE AN 30° @t fFarie o 96 5 1S ST IS FIOIT 4T 0| 9 gfod T

57

(a) % ,10 (b) 5v3, 10 () 5,10 (d) 5,10v3

5

T R P _ i =10 P =
JOF "' cin120°  sin90®  sin1s® Q=10; P 5V3

08. 5x—5vV3y+ 2 =093 3V3x + 3y — 4 = 0 G {07 TEF T T3-

(a) 30° (b) 90° (c) 60° (d) 45°
Y (b) ; my = —_55ﬁ= ,;5 ; My = —¥= —/3 . my.m, =%(—-\/§) = -1
-, (X R[04 S™¥e& (@ 90°.

09. fATET CATe @7 TN TA: f s
ok ®)3 ©3 @F
AL () ;% _ful 1-|d-:= = %[’[i}.ﬂ‘:l Z)s i x? =z. 2xdx = dz

1 — - —111__ —E — — * — =1
=E[tan11—tan 10]—5[1] 0 == x=02A z=0; x=1ACZ

10. Foea @PE @A I TE : [ x| dx

(a) 2 (b) —1 (c) 1 (d)0
21t x| =xT4qx =20
['_ =1 {—-KW x<0

0 1 .o [
TAR: (c) 5 [, Ixldx = [, |xldx + fnllxldx.= — J, xdx + [ xdx = [z]-i *

—ﬁf L f] 182 ﬁ




BUET SITIRL _ | r‘} %; .
11. a3 erpred et 13, 14 @3g 15 nﬂwwﬁ—mwm
(a) 84 sq. units (b) 88 sq. units (c) 80 sq. units (d) 64 sq. units

A (2) ;A = /SS—a)(S—Db)(S — 0); S =222= 21
A= 4/21(21 —13)(21 — 14)(21 — 15) = v21xBx7x6 = 84
12. T x =a(0 — sin6) G y = a(1 + cosh), T, B 5% 4T T T~

(a) — cot (b) —sind (c) 1 — cos® (d) —tan
—EBSE
AAYE: (a) ;% = a(l - r:nsB) g = aX (—sind) .. 1_5:;?3 = —z:l::l?;_ = — cut-
*13. TR AT 2 @ﬁ?waﬁaﬁmﬁtﬂﬁm TG | wma'iﬂr 7.6N T AR T iy T
(2) 12m/sec? (b) 6m/sec? (c) 13.6m/sec? (d) 4m/sec?

A (b)) ;mg—R=mf=>f= mil_n = 298778 _ 6 ms~2
14. i~ @I ¥N:
(a) -1 (b) i (c) 1 (d) —i
A (d) ; i%} = (iz;ﬁ.i = % = —ij
15. 0 B THTET 3om FOOE 2R T OIF SERE (@ TR | AFIER 2f STt T e W Fogd afb A
37
(a) 1cm ~ (b) 1m (c) 2cm (d) 2m
AqHE:(@); .. 0 =§— 2.%.:{

Shurtcut:y=§=§-= 1cm
Lx=1cm X =@ UES A SOHFBAG |y = @ WES T A9 OIS T
*16. 1—1+1—1+1—1+ 13T oM 4TS @I LI-
(@) [1 = (=1)"] (b) 0 (c)1 (@301 = (=D"]
T (d) 5 Sa = 125 = 150 = 2{1 - (1))
17. aﬁm@m@ﬂﬁﬁﬁﬁ@ﬁmﬁmmmwmﬁmmm?
(a) 20 (b) 35 (c) 45 (d) 25

Fii: (b) ; 10C, — 10
18, B 3 SRS o T, TE (P PO (RIIGD ((519) @ SRfEe 1 Talow TP V2 2o afoa el -

() x% +y2 +2V2x+2,2y+2=0 (b)x% +y2 + 2, /2y =0
() X% +y?—2vV2x—2,/2y+2=0 (d)x2 +y2+2V2x = 0

7 r 2 2
UG (a) ; @4 (VZ,VZ) GRIPNE = V2 ; (x+v2) +(y+V2) =(@2
o 32+ 2VIR4 2+ Y2+ 22y +2=2 X2y 4+ 2,2y + 2V2Zx+2 =0
*19. It @0 FRIFA SiomAr 27°C cmr 327°C (© Jfa A, ©rd Wi [{ifwaneia 9 =rs-

(a) 10 times (b) (m times (c) 16 times (d) 8 times
T3 600
e @) 2 = 1 = (5) = 16
20, nﬂﬁfﬁ‘mm (*j'éf"ﬁ 30 dyne/cm) [E 2em | WW%‘TWWW TG RS-
(a) 4525 ergs (b) 2262 ergs (c) 1130 ergs (d) 9050 ergs

MY (d) ; W = 2TAA = 2T4n(r? —r3) = 2x30x4n {(4)* — (2)?} = 9050 ergs.

P————
SACRE L)
" Rl
-3 -*ll'_--' T -,.|."‘J ¥
Pl m 1e = gt 1 g




21.

@Wwﬁﬁsﬁﬁm| aﬁﬁawwﬁﬁmﬂwm?ﬁﬁﬁﬂW?

(a) zero (b) c (c)V2c (d) 2c

TAYE: (b) ; 417, @IHER @ = C; Refe e v o (Foea @1 = C
. STARFF @ = € — (—C) = 2C 53 W @Uia 6T @R @ 7 71 Weeifre @5 = C

22, WD o GO (O T8 i SRR SREIICR - S TS U | T WGBS -

23.

24.

25.

26.

27.

28.

(2) 15 min (b) 30 min (c) 45 min (d) 1 hour

2 ]
SR (b) ;A = SInSe = —1_In}e = 3.85x10™* .. 2 == = 1800s = 30 min

Zx60x60 =2
16

A FBET A 8 B 2f% Gaes 10 A6 Teow T T ST B-aT FHIF, V. 480 Hz T O I01 A-O7 THAIE

P07 (Vo < Vp)

(a) 465 Hz (b) 490 Hz (c) 470 Hz (d) 495 Hz
TN () N=Vg =V, >V, =V —N=>V, =480 —-10 =470

100k ©32 500k SINAGHT Ne4T FHETe W30 FICH 2fe=a wrel $97

(a) 0.8 (b) 1.2 (c) —4 (d) 6

AAIYH: (a) ;n = (1 —%) x100 = 80%

T 7 e (IR I8 ARG R x Ry o fwa o swigaifes?

() VX (b) x (c) X (d) x*

TRA: (c) ; 7E0H FfoEF U = Zkoc? .- Uoox?.

G5 FRE TN Y (FEE F7 TEF W 1mm G2 SR CFER 40 99 249 CHAR 39 903 S+ | @3

(TR SIfeIT 4795 97
(a) 0.0025cm (b) 0.0025mm (c) 0.0025m
AAYN: (a) ; AYF CFE9 1 TEINH S = 1 mm = 0.1cm

SIAE CFET O 725 = 40 . Ww—;=——ﬂnnzs cm

9B YICF TR (IPeF ARE E. @17 5% q & fFroa Barm@d 9@+1 PQRS 37197 ~ifisifre w9re Fie™
Afqre $7?

(d) None of them

P Q' is
)
>
)
R s
(a) 2 units (b) -2 (©)0 (d) None of the above

FAAYM: (c) ; QT PQ I91]9 feFar e 941, F, = ILB sin0° = 0

QS 93193 fFarter 97 F, = ILB sin 90° = ILB

SR I3 f&F a1 9&7 F; = ILBsin 180° =

RP IR_ & arte 991 F, = ILB sin 90° = ILB

G, F, 93 F, 277 fIodre s famher ... e s =)

G IBIRT =R bR B FHAR QB E,, i+ o) =fere wrm) vz fifeits vo7

(a) —E, (b) 1.5E, (c) 2E, (d) E,
AAY: (c) ; Frogifes = ZSM™. sifenfes = 1 _F_z_ - M | _-GMm ,6 1 GMm
(©) R+h ’ "R+h  R+h - B = RA T2 R+h
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30.

3.

32.

33.

34,

35.

36.

37.

WWWWHWW,WWWWR%WW? [Ans: ]
:(a? White (b) Blue (c) Black (d) Orange

- = &3T, 9 @b ey, TI=- | [Ans: c]
(2) T ARSI (b) Fwolo ARSI (o) TeuR (d) T = T

AT e <A @t eIt 104 S eifke T 1074T B-51e%F O T o R i T
“AfFet =37

(a) 10™°N (b) 107*N " (c) 103N (d) 10~2N
SRAMYI: (c) ; F = IBL sin0 = 10x10~*x]xsin90° = 10-3N.

T YR & T I a6 el (377 499 = k) @31 o7y x ARt 9f w4, wra ei-q #ss =i sifmi 23
T2 2 2 .

@ OF> CEs @2

TR (B) 5 S R, SfogTay <7 T = ko, 31260 45 = U = o = |

(539 A, B 932 C 99 I I 12, 5€ 13 43T U2 A+ B = C. =57 A W3 B 97 TYIS! (Tl T3-
(@) m (b) S (c) zero (d) E

T () ; A+ B +C or, [A]" + B + 288 = ¢’

_ CE—AE—BE _ [1332_(12}2_{5}2 _ ' _ _ =
Or, cosf = = ~rT =0 . 0=cos 1[}—5.
Q0 I8 HARY T OF T TG 4th GITS S, @32 6th GRS S, Ay oy 96 | %‘-ﬁr-
2
2 4
(a)= (b) 5 © @

)8, =utla@-1)=2; s, =M 5 _7
TN (d);S; =u+za(2t—1)=7; S; = sy 11

10 moles *TTE T@SIAIT HLCIGCTR W 350] FS TIwe 271 TF T8 weg e Ao T o 2a?

(a) 50] (b) —150] (c) 350] (d) —350]
FAT: (c) ; ALPHN T O, dW = —350] = dU = dQ — dW = 350]

(TH o litera Tryy 39-57 i ?

(a) Li, Be (b) Mg, Al (c) Be, Si (d) B, Si

TAY: (d) 5 =T TRAT @ @ G 63 RN I (= I @, B =178 »ic wigaet eeet e
GNTeT 4eta e @7 o fore R | oS aft Gheasr asvel preyet 4o it e soot <ot =) o wvidre
Gt oy ffen o 72z ©ff WG, 210w @ Iw &P, vt o, s amnd, wafie e aefs o
IRFIR 1 e aew g citem 746 571 (it <=

#F94 - 1A ITA IMA IVA

HAfAETTT 2O Ry e,




38.

39.

40.

41,

42.

43.

45.

46.

Wmﬁﬁm 2N,0:(g) = 4N02(g) + Dz(g) a7 S 30°C€Pliﬂfﬂm 2. 40?:%1 Riznts 27 &3 @FEm?

(2) 0.289h71 (b) 0.980h™? (c) 0.20h™1 (d) 0.240h™1
AT (2) ; Ty = 5 2 & = ';'—f = 0.289h™1
Y AT T G cmm?

(a) *FI 3 SN 1A (b) =t 4 s 1B (c) *ITr 3 = 1B (d) = 4 3= 1A

FYI: (b) ; SN S, Cu G RS F2AT 291 .- Cu G ZERas [T 1s? 2s22p®3s?3p©3d*1%4st Wlity, ARy
FEC ST 4s @ M6 ARG Wz @At 3d SRRBE 7 1 O 99 TEGH ﬂmﬂmﬁasoﬁﬁwﬂam A |

EIEBTS 5% Na,C 0, Ba0eE i $97?

(a) 0.4716(M) (b) 0.5821(M) (c) 0.5000(M) (d) 0.3215 (M)
W (H) M — Xxx1000 _ 5x1000 — 04?16
VXITl IIJ{]':IDE
AT s TEIqT?
(a) Na,CO5 (b) FeSO, (c) CaCO; (d) CaCl,

FAYI: (c) ; FIKCAD TR BT AECED, YIRS e Aol gemil 4|

©p9fs, MgCO; > CaCO; > SrC0; > BaCO,

69 @R [Co(NH,)]3* wioe Siraa suififes Fotn?

(2) T (b) CGRITZGE CEEISIES (d) BIRGIeT

T (d) ; S =, wiba AR oFm@ Tififes sRIaR A5t 0 sp® FFA, ANSay IR ot
G dsp? I, sp2d FEA G2 ARSI 9 Octahedral. S SIS I T, (FRIT 1O SIS AR T4

4 BT &WG B9 (S ARG AF6 TOIAFE TS [06 = | QU Sioe WAt I @90 “JReEie
2T O ZF ANSAR T S SRIHIEDE 20 ©f TR TR SNP1od | S A SACT A A4 6
T OF TP FE WEGART | @NF- [Co(NH;)e]3*

59 TR TrAmAD AT AT FACS AN ?

(a) 519 (b) orANEl (c) 9=yri@r (d) geiqs
STA: (b) ; l0gi, = —550-= X7+ C ©IR vl ARST K @1 1 “iffis

e Rl T THRT?

(a) Na;0 (b) Na,0, (c) KO, (d) K0

T (c) ; @ TP THIZLCG AA-SHIZT I ART-SIHIT TAFS TS AAfFuiced SfHree A, O JoAF THRE
JCE | AYIEAS K (251m), Ra (@f%wm), Cs (FBifemm) e KRC Glie oftd o SHIZT 9ITR | @=F- KO, |

A6d @ (@19 Sf &b 7o) ?

(2) 2% (n) TFA 0T (o) IHET G e

(b) FAFA ARG AR () IH B 1

(c) s- SAABIE G2 p- SARBIET AT A2 (1) IF4 B A

(d) PSSO @32 P,-SAf01e atat AR (n) I9= 38

SAYI: (b) ; FRY (A) o IFH 7t IRF (S > &=iet

(©)s—Ss, s —p @2 p — p ARG AR SRR ¢ G2 p. p TARBIER A= SfEeaed o 95 961 (d)
TF SHOE T p-SAEBERNE UF2 TF A9 {038 o LA |

o7 GRS ~RIE TR FARPITEIT O ST | (1 “RieE S SHCIRuer = *Ife Faeeey F37

(a) 1s%2s? (b) 1s125%2p? (c) 1s12s22p® (d) 1s22s22p63s?

FAAILI: (d) ; S 1, SR =i a3 e T I TS GF e 16Tl T TO% ITS ACE «3L G ST
B (UTE TS CITeTe SRR X 1 QAT (A)(B) 6 (C) AN Fomis % “iita srf¥e @k (A) @ (B) Gnaf

T et SRS | SRE SR (D) G @R M I T @9 GRS U AT 7 WA M

Gl @9 |




47.

48.

49.

50.

51.

52.

53.

27°C SIINI@Y @ 1.0atm ?l‘{?m?i 1.0L ﬁqcafiﬁmﬂm Wﬁmﬂﬁ[‘fﬁ?ﬂl

(a) 0.05 (b) 0.04 (c) 0.06 (d) 0.03
(b) Wmﬁ "= Rr :> a= (D.DEI:;.::L(S'IJ{J) = 0.04
e R & Aife Gnmiam?
(2) H;NCH(CH3)COOH  (b) HO — CH(CH,)COOH (c) (CHs),C COOH (d) CH;CH(OH)CH,CHj

FTAI: (€) 3 PR R BTG reTs 2 S1afe oy fom 3o 31 SR 6 2T, ©TT @ “RIE(T FRAR T4 9
@ T PRI T 01 S B e 7R <1 SCeliE @SS G TAE I S AT ST SHIFRAT
TCT1 QAT (A) QT C i e 815 o Jei —NH,, —~H, — CH; '8 —COOH St | SFRSNA (B) '8 (D) FIZAFT
SYAG (C) T C 931 3R f6 ~CH,, o1 WIeg | ©iF «af SeiRare)

e e @it 75y wtor-aTafe THwqer?

(a) 2H; + 0 = 2H,0; AH = —571.70kJmol™?

(b) 2H,(g) + 02(g) — 2H,0(g); AH = —483.67kJmol !

(c) TR Q=T

(d) TR (FIHIE _
FAAYI: (b); SIof-aeTaaE SWeatet amE ofFsma e e [T 8 SeAmetE s oo 99g)s S Ut |
&, ~ITdR S_ER Y =it aeife RiERE el wive s, s1wgie R[S R A S RS

B

RIRLGITE AN & fAeoa @t I A See e siee =iedt I ? [Ans: d]
(a) Brackett series (b) Lyaman series (c) Paschen series (d) Balmer series

s whofem @Mt @b “mmeE s e ?

(2) RCETRGA AT (b) C&AB FeA (c) feae 7 (d) SR Hedqr

AANI: (b) ; G AR ZERGEA 7T AR T of iAo e At ST WREMGIT 9P R Hes
A7t e =) T o7 AR ST T 5 932 cE ity [ way [, aft e s

cafizy |

9T 2R Brers e zew Tfe- |
(2) G TR S IS ARSI (b) #if TS FEre 1A
(c) T weyeTE [Af¥ e (d) Btz 771 wdie RfAE

STYH: (d); SRR “Sirets < PR oid eipfers s SIgIN 2Neq T/ 3 Y& S (1 e =0 1, ©
Wwwmmﬁ.mﬁﬂmwﬁﬂ@%aawﬁﬁwmﬁmwaﬁﬂﬁw s e

At [[feEar <=t
(a) TR TER Wi wEy FRwEER R i (b) 90 e fRfeFa
() TrTiRTes «sfe = Rgre e Rida (d) Btz @B =
SR (c) ; TR R 2 R @b w1 FRegERE e @w-
CH,CO0C,,Hss CH,OH

|
l CHOH + 3C,,H,:COONa

A
CHCOOC,,H;s + 3NaOH(aq) —

S l
| CH,0H ()
CH,COOC,,Has
o (Ftife)
(fernfeet B2 Foaen)

Ao oo WaNy woe,,.




55.

56.

57.

58.

59.

60.

(a) Tolen's solution (b) Bendict's solution (c) Fehling's solution (d) TAER (FIAGE 7Y
FTAYI: (a,c) ; B RImT 8 (F3fER 534 WieRiies wifde I g oM 3@ 7 SR Qs wyq
WeRIRE @ FoH Tomss wite |

CHz — CHO + Z[A%t(lgl-lz)]zoﬂ - HyC — COONH, + 2Ag ! +3(2r%3 + H,0

CH; — CHO + Cu(OH), + NaQH —s CH, — COONa -+ Cu,0 L+ H,0
(TR ) (=)

R, N . N
/C=0+H,N—NH EZ(:)>—NOZ :C=N—NHEZ©—NOE+HEG
Rr

Rr

e /RoE @ es g 7R Wy T
. qQUF (a) 8 (c) TSUZ Answer

Read the following passage and answer the question numbers 55 — 58 that follow:

It is true that electronics developed from the study of electricity. Early ideas about the way eléctric current could flow
through conductors and through a vacuum led to the development of useful radio systems and telephones. It was
possible to send messages with what was, by today’s standards, incredibly simple and crude equipment. The Second
World War provided an urgent requirement for more sophisticated communication and other electronic systems. The
invention of radar required a big step forward in theory and even bigger step forward in engineering. The study of
electronics gradually became an important study in its own right, and the radio engineer became a specialized
technician.

The post-war development of television led to one of the most massive social changes that have been taken place;
many households became the owners of televisions, as well as radios and record players. In some branches of
industry, electronic systems were regarded as useful, but electronic systems not directly concerned with wireless or
television were still unusual.

Only in the early 1960s did electronics technology really come of age. Thanks to the work of three scientists working
in the Bell Laboratories in the USA: Bardeen, Brattain and Shockley. In 1957 they assembled the first working
transistor.

The passage mainly discusses about- [Ans : b]
(a) the invention of radar | (b) the early stage of electronics

(c) the invention of electricity (d) the invention of transistor

What is the synonym of the word “sophisticated” used in the first paragraph of the passage? [Ans: a]
(a) Highly developed (b) Shining (c) Electrically operated (d) Working

In post-World war II era, which of the following brought most massive social change? [Ans : d]
(a) Radio (b) Record player (c) Telephone (d) Television

The first working transistor was developed [Ans : a]
(a) in 1957 (b) during World warII  (c) before World WarIl  (d) in 1960

He has supported the team for over ten years............... [Ans : d]
(a) Through thick and thin (b) Skin and bone (c) Carried the day poured (d) in vogue

Though he had tough fight with his rival, he SOMEhOW.........cour.e.. : [Ans : b]

(a) Oil in troubled waters (b) Carried the dye poured (c) Trembled in the balance (d) Had a finger in the pic
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